Sr Questions Answers Choice

A. 45
50
52.50
53.75

1 The difference in selling prices of a heater at gains of 5% and 7.5% is rupees 1.25. then the
cost prize of heater is:

15%<br>
18%<br>
20%

25

2 A shopkeeper bought bicycle for R.s 600 and sold it for R.s 720 find the gain percent.

25
30
39
42

3 A seller loses 13% by selling by book at a certain price. had he sold it for R.s 9.75 more, he
would have gained 26%. C.P to him was

3
7
11
21

4 The greatest number which divides the number 105,1001m 2436 is:

15
20
25
5

5 The bankers gain on a bill due 1 year hence at 5% is R.s 1. The true discount is:

8 <br>
6 When 5 is added to three times a number. the number becomes 29. The number is: 14
12

10
12
15
18

7 The difference between 5 time and 3 times of a number is 36. Find the number:

8:00
8:10
8:15
8:30

8 The reflection of a clock in a mirror shows time as 3:45. What is the actual time shown in
clock?

76
73
77
74

9 The average of 5 consecutive numbers is 75. What is the 2nd number?
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55914
B. 57194
C. 55934
D. 55745

10 In a code language 35796 is written as 44887, Find the code for 46823



